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80. 3$�����"��#$�, 2��T
�� -��2��62w
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81. 3$�����"��#$�, 2��T
�� -��2��62w
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�� -��2��62w
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85. 3$�����"��#$�, 2��T
�� -��2��62w
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88. 3$�����"��#$�, 2��T
�� -��2��62w
�������!��$���% (C. quinquefasciatus)
���2��������#$��+, 2  ����*����+, 5 117
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�� -��2��62w
�������!��$���% (C. quinquefasciatus)
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�� -��2��62w
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�� -��2��62w
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�� -��2��62w
�������!��$���% (C. quinquefasciatus)
���2��������#$��+, 3  ����*����+, 5 125

97. 3$�����"��#$�, 2��T
�� -��2��62w
�������!��$���% (C. quinquefasciatus)
���2��������#$��+, 3  ����*����+, 6 126

98. 3$�����"��#$�, 2��T
�� -��2��62w
�������!��$���% (C. quinquefasciatus)
���2��������#$��+, 3  ����*����+, 7 127

99. 3$�����"��#$�, 2��T
�� -��2��62w
�������!��$���% (C. quinquefasciatus)
���2��������#$��+, 3  ����*����+, 8 128
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5. ���75�2��62w
�������!��$���%6�1)". (Male C. quinquefasciatus)    8
6. ����-����*��������3��   17
7. Bs �"2��$�6�w3 (Vectolex® WDG)   18
8. Bti �"2��$�6�w3 (Cullicide 10 WT)   19
9. -�*��"�-��������2".����+, 0. �����*���   20
10. % ����*�����3$�����"��#$��!��$���%���������� 0. Bti ���
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